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Class IV — Internal-Assessment — 1

Full Mark: 25
Answer the following questions. [1X8=8]
1. How many thousands are in 848067
2. What is the roman numeral for 39?
3. What is the sum of place values of 7 and 5 in 3715247
4. Which is bigger 51908 or two lakh five hundred fifty?
5. XLl = 41, mark True / False.
6. Write the number in figure: Eight lakh one hundred five.
7. Sixty five thousands + Thirty five thousands=___ lakhs.
8. Form the greatest 6-digit number using all different digits.
Subjective: (Show the working) [3X3=9]
9. Add 365786 and 500978. Write the answer in number sentence.
10. Find the difference when subtrahend = 87402 and minuend = 98248.

11. Fill in the boxes:

Word problems: (Show the working) [4X2=8]

12. In the first floor of a library there are 45729 books, 2" floor is having 62095 and 3™ floor is having
56892 books. How many books are there in the library?

13. Car manufacturing company produced 100563 cars in 15t year. 2" year they produced 798 less
cars from the 1%t year. What is the number of cars manufactured in the 2" year?
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